Eencises

1.

I[fO<x<2m,find:

(a) sinx = L

2

; |
d sin3x = =
(d) sin3.x 7

IfO<x<2n,find:

(a) Cosx = 1

() Cos(%] = %

IfO<x<2m,find:

(a) tanx = L

7

(d) tan(ﬁ) =

o< x<2r or 0 <x <360, find:
(a) sin(x® + 60°) = %

() tan(x®+45°) = -1

1

() cos(fog) = 3

IfO0<x<2m or 0 £x <360, find:

o, 1
(a) cosx® = 3

(d) 5sinx® = 2

{b)

(e)

(b)

()

(b)

(e)

(b)

(e)

() 251n(x+§) =-1 (h)

() 2cos2x+1 =0

(k)
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sy = 3 (c) sinx = 7
g &Y P L J2
sm( 173 (f sin(mx) = —5
Ccosx = —% {c) Cosx = 73
1 T ,fz
5 2,‘ = = i COS| =) = ——
cos(2x) 5 (f) LOS(ZYCJ 7
tanx = —1 (c) tanx = ﬁ

tan(2x) = =3 (D

(b) cos(x°—=30°) = -g-
. 1
(d) sin(x®—20°%) = —
( ) 5
(f) tan(ggx) =1
25inx+,ff‘§ =0 (©)
4sin?x -3 = 0 ()
Scos(x+2)-3 =0 (i)
ta112x—,f5 =0 ()

tan(g,r) = -1

ﬁtanx =

Ltzsmx+1 2
3

tan(x = g) = %

25inx® = Scosx®

Solve the following equations for the intervals indicated, giving exact answers:

(a) sinOcosB = %,—TESQSTE

(b)

359

cos28 —sin?@ = —

T
Lepg
2

Sl =]
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2 I+ cosO
(e) cos?xy = 2cosy, -y < (f) sec2x = 2, 0<x<2n

7. Find (a) 3tany +tany = 2, 0<xy <27,

(by  tanixy+tany = 3tanx+3,0<x <27,
8. F0<x<2n find:
(a) si1122x—£—lL =0 (b) tanz[%J -3=0 (¢
9. (a) Sketch the graph of f(x) = siny,0<x<4m.

(b)  Hence, find i {.\']Sinx>%}u {x[0<x<dn}.

ii. {x]/3siny< -1} U {r|0<x<dn}.

10. (a) i. On the same set of axes sketch the graphs of f(x)
g(x) = cosx for0<x<2m.
ii. Find {x|sinx < cosx, 0 <x<2m}.
(b) 13 On the same set of axes sketch the graphs of f(x)

2(x) = cosx for 0 €x <27,
1i. Find {x|sin2x<cosx,0<x<2x}.

mx

M. (@ Solve {f : 3sinae - L —2,0°<xs 36[}0}

+2; O°<x<360°}.

(b) Hence, find { x° : 3sinx® <« ——
sinx

() 2sin’x—3cosx = 2,0<x<2n  (h) sin2x = 3cosy, 0 <y <25

cosZ(my) = |

sinx and

sin2x and




